[image: image1.png]‘Suppose all of the firms in a small economy satisfy the conditions for efficiency except for one
it LuthorCorp, which s monopoly producer of computer antvirs progains. LutborCorp is
150 the Gl e of v proge: engineer i i econouy. Suppos e prodvction
hnction for ant vicus programsis Q=F(L)=2L, where L i the muzibe of an vius program
engineers bired.  Aseumn alo that the demand for antivirus programs i given by Q° = 100 P,
it e I upply e for S vis progrn engineer s gives by 6 = 20~ L

4) How many anti-virus programs will LuthorCorp make in order to mazimize profits? At
this level of output what will L, . aad P be? What are LuthorCorp's profits, 117 What
5 the consumer swplus enjoyed by anti-vius program buyers, CS?

) What would be the outcome if LuthorCorp behaved 25 a competitive firm i the market
for ant-virus programs, but remained an cligopoly purchaser of labor? Once again, solve
for 0, Lw. P, 1, and CS. [Hint: find an expression for LuthorCorp’s fofal cost
Jfunciion, and use what you know about perfectly competitive markets]

©) Finally, what would be the outcome if LuthorCorp behaved as a compettive fima in both
the output and labor murkets? Again, solve for O, L w, P, T1. and CS. [Hint: use the
Jact that boit the labor and anti-virus program markets are now in compefitive
equilibrium]




